
Math 4650[9/8/25



Ex: Let an = t
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then 1- 0k3 .

We have

It-ol=
⑮

We want t E.

This is the same as R.

Let N ba a natural number

with <N.



Then if n, N we have

In -0) = n+
pNq
#

Thus
,

if n > N
,

then

In -01 >

st
=0
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Let's show
limc = c.

n + 0

Xeroof:

Let E70 .·Let
--

C- E - ---

an = C

-I
for all n31 . N = 1

Set N = 1 .

If n > N ,
then

| a n - c) = (c - x = 0 <

~

Colinan



E: Let's show that

lim = I
.

n + x

30 .

Goal : We want to find N where

if >N then In-113 .

We have that

I-1=
=I
=
=



We wanE

This is when 5-1 < M.

Pick N> - 1.

Then if n N ,
then

-11=5
=
=1.



Ex: Consider an = (1) "

-

az a
①

#as as

We will show that lim (-1)"
n +

does not exist.

We prove
this by contradiction.

Suppose (im (-1" = L exists .

n+ x

Let E = 1
.

Then since -= there



must exist N where if

m N then 1C1"- LK1 .
W

E = 1

Lase
I : Suppose0

LH-
----

--
---- L + E

I-
L-1
---

- If .
&

·

,no

Pick HoYN with no
odd.

Then ,

k((-x* 2) = 1 - 1 - 2)
P

Cre E
- ( 1 - 2) = 1 + L

> 1 + 0 = 1
⑭- 1 - 10



We get 131 .

Contradiction.
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